

PRODUCT TO SUM

$$\cos(x+y) + \cos(x-y)$$

$$\cos x \cos y - \sin x \sin y + \cos x \cos y + \sin x \sin y$$

$$\frac{2 \cos x \cos y}{2} = \frac{\cos(x+y) + \cos(x-y)}{2}$$

$$\boxed{\cos x \cos y = \frac{1}{2} (\cos(x+y) + \cos(x-y))}$$

SUM TO PRODUCT

$$\underline{\cos(x-y)} - \cos(x+y)$$

~~$\cos x \cos y + \sin x \sin y - [\cos x \cos y - \sin x \sin y]$~~

$$\sin x \sin y = \frac{1}{2}(\cos(x-y) - \cos(x+y))$$

$$\sin(x+y) + \sin(x-y)$$

$$\sin x \cos y + \cancel{\cos x \sin y} + \sin x \cos y - \cancel{\cos x \sin y}$$

$$\sin x \cos y = \frac{1}{2} [\sin(x+y) + \sin(x-y)]$$

$$\sin(x+y) + \sin(x-y) = 2 \sin x \cos y$$

$$\sin A + \sin B = 2 \sin\left(\frac{A+B}{2}\right) \cos\left(\frac{A-B}{2}\right)$$

$$\begin{array}{r} x+y = A \\ - (x-y = B) \\ \hline 2y = \frac{A-B}{2} \end{array}$$

$$x = \frac{A+B}{2}$$

$$y = \frac{A-B}{2}$$

$$\sin(x+y) + \sin(x-y)$$

$$\sin x \cos y + \cancel{\cos x \sin y} + \sin x \cos y - \cancel{\cos x \sin y}$$

$$\sin x \cos y = \frac{1}{2} [\sin(x+y) + \sin(x-y)]$$

Ex 1

$$\cos\left(\frac{13\pi}{12}\right) \sin\left(\frac{5\pi}{12}\right) = \frac{1}{2} \left( \sin\left(\frac{18\pi}{12}\right) - \sin\left(\frac{8\pi}{12}\right) \right)$$

$$= \frac{1}{2} \left( -1 - \frac{\sqrt{3}}{2} \right)$$

$$= -\frac{1}{2} - \frac{\sqrt{3}}{4} = \frac{-2 - \sqrt{3}}{4}$$

Ex 2

$$\Rightarrow \sin 4x - \sin 2x = 0$$



$$= 2 \cos 3x \sin x = 0$$

$$\cos 3x = 0$$

$$\frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}, \dots$$

$$\frac{3x}{3} = \frac{\frac{\pi}{2} + \pi \cdot n}{3}$$

$$\sin x = 0$$

$$0, \pi, 2\pi, 3\pi, \dots$$

$$x = n \cdot \pi$$

$$x = \frac{\pi}{6} + \frac{\pi}{3} \cdot n$$